PASSTCERT

QUESTION & ANSWER

Higher Quality

Better Service!

We offer free update service for one year
HTTP://WWW.PASSTCERT.COM




The safer , easier way to help you pass any IT exams.

Exam : 3V0-42.23

Title VMware NSX 4.x Advanced
Design

Version : DEMO

1/2



The safer , easier way to help you pass any IT exams.

1.Geneve Offload contributes to network performance by?
A. Decreasing the total bandwidth available

B. Reducing the CPU load for tunneling processes

C. Increasing the amount of network traffic

D. Reducing the need for network segmentation

Answer: B

2.What is a critical consideration when configuring NSX security policies?
A. Ensuring compatibility with physical network devices

B. Aligning policies with virtual machine hardware versions

C. The administrative overhead of maintaining policies

D. The security posture and compliance requirements of the organization
Answer: D

3.NSX Manager sizing options should be considered based on?
A. Number of VMs managed

B. Scale of the operational environment

C. Color scheme of the user interface

D. Number of physical servers

Answer: AB

4 \VMware vSphere is used for?

A. Building web applications

B. Virtualizing physical servers

C. Managing social media accounts
D. Designing graphical content
Answer: B

5.When determining a security policy methodology, what is crucial?
A. The physical location of servers

B. The make and model of hardware devices

C. Alignment with business objectives and compliance requirements
D. The brand of the operating system

Answer: C
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